SME6EE 430 MES2=FNRL—FR—IILEBFEAS

O [RR—YdeT—KRSATIZEHLTLETS, H B : $M6%E1189H (1)
CHAESELLET, fi% 800 =fF: 8304
OTRDE-—ILREZAEL. TRIEIZBEEBLL. TRAIEFEALLZWVKIICEBREWLLET, e 0 8509
Q785057 &Y, HEF—L2AT—FHKYDEFEWELFELWELETS, % Bt ¢ L& ROBY a3 7XEMABEE
MEHOBE, BybE, BRAEILIBREZRDS, BFEE . BRI ZAL—
[A#R]) [B#H] [C#H])
F—LA(BF-EE F—LA(BF-ES F—L%(EF)
1 Mgy 2 =7 4| 13 xA22=27057B 7 BRI Z N L —
2 Wy 77 5 WMy 2=7 8 Wil =7
3 TNy 2=7 6 Et+tRya=7 9 [HAS =T L—R—Ls5T
10 v—"7 T X
B B tkEY =7 # B:ELtRYaz7 & By =7 AL —F—-s 77
HEERWEs T BB 3 EBY 2278 EER BRI L —
= fiFNYaz7 = Y a=7 = v =7=7Ar
BEE o7
1 4 7 c-3 10
c-5 Cc-6
A-1 A—3 B-1 B—3 CcC-1 C-2
2 A-2 3 5 B-2 6 8 c-4 9
e Vs =¥ KA VS BT SHAK VS =
A—1 1 2 3 B—1 4 5 6 c—1 7 8 9 10
A—2] 2 3 1 B—2| 5 6 4 c—2 9 10 7 8
A—3| 1 3 2 B—3| 4 6 5 c—3 7 10 8 9
c—4 8 9 7 10
A -BHD 1R L. 2Bt SR TOXRREEZITS. C—5 7 9 8 10
HEK Vs e HEH V'S eI c—6 8 10 7 9
A—4 | Alfz | BIfL | A3f B—4 | A2fii | B2fi | B3Gr | -
B—5 | A3 | B3fi | A2fif | B2f




[A#E]
1
AL | Bk 2 =7
2
A2 Wy 77
1
A3 | BEfEY 2 =T
BIRHE
Al
T )
A | BKEEY 2T
[B#E]
4
Bl |%%%2¥2=72s77B
5
B2 | ¥ 2z=7
4
B3 |#%%2¥2=7s77B
BIKE
A2
il 33 \ .
B4 Wy 77
A 3fiL
il 33 .
Bs | FlI¥Y2=7
[CHE]
7
Cl |EFR/NII =L —
9
C2 BWARY 2= FRL—F—Ls 57
-
C3 |BpRNI =L —
8
c4 who 7
BIRE
-
C5 |FPRNI =L —
8
C6 Wi =7

AaIE

[ 21
2| 21
21
2| 21
M 21
2| 21
M 21
2| 21
[ 21
2| 21
m3
o| 15
M 14
1| 22
9
21

2| 21
[ 21
2| 21
M 21
2| 21
m 19
2| 21
15

M 21
21 21
M 11
(] 14
[ 16
o| 18
M 11
O 1r

11

13
1/

18
13

10

21
21

21
20
15

10
15

12
1/

21
1/

1/
11

21
21

21
21

21
21

=Y - Haks

4
2 3
wEs 57 | [ Fga=7l -
3 1
FNYa=7 | |@ES2=7| -
3 2
Fvaz7 | | BEsrs7 i

B 1fiz

A 2

EXRYaz=7

Thyaz=7

2§
5 6
W=7 E4+HY 27 _
6 4

E-E;‘itEV:L:T

3% &222=72778B

6 5
EXRVaZ7| (WY azT -
B 21z B 3fiz
drEava=7s578| |FE)IP 2 =T -
B 3fir A2 B 2fiz
w2 =7 W7 57 |wstsvaz=rs578
=Y
8 9 10
*EU || 7 = 7 vz —s-rs37 | —0 1 5 Ry,
10 7 8
=T TR | |BRAI=SL-| IO T T
10 8 9
<v—"7 15X ¥ T T | wvazrmnnsss
9 7 10
WAV 2= AL KLy 57 BRI ZAL—|v—¥1 5
9 8 10
A 2= 7 AL—H—ns 5T ¥y Z7 |~—vx 72

10

7

v—7 7 A

BRI =L —

WAL 2= TR —F NI FT




[A#H]

WO 1=T WEy>7 Thea=7 (Bl&a|l B | B | & ['yr FR
JIE 42 M| EF [wyb|tyb| F |BA|L£E] =
O O
21 - 9 21 - 18
1 W17 2l 21 - 11 [0 | 2| 21 - 13 2| 0] 1.000 4 0| 1.000| 84| 51| 0622
0 -0 0 0
O
9 21 21 - 13
2 WEyo57 11 - 21 2 21 - 17 1| 1| 0.500 2 2| 0500| 62| 72 0.463
0 0 0 0
o
18 - 21 13 - 21
3 TYaz=7 13 - 21 0] 17 - 21 |2 0| 2| 0.000 0 4| 0000 61| 84| 0421
0 0 0 -0
1 W=7
2 WEI77
3 FlPa=7




[Bi#H]

[$5FERP2=7H57B wNoa=7 ELTR A=7 |B(&| B % | &8 | ey B
JIE {32 | E [wyb|tyb| E ([BE|ka| =X
O o
21 - 6 14 - 21
2 |dmE3C2=75578 2l 21 - 6 [0 |1 22 - 20 (2| 1| 1| 0500 3 2| 0600 87| 68 0.561
0 - 0 9 - 15
[ [
- 21 3 - 21
3 #wileaz=7 [0 6 - 21 |2 ol 15 - 21 (2 | ol 2| 0.000 0 4| 0000 30[ 84| 0.263
-0 0 -0
O O
21 - 14 21 - 3
1 EXRUa=7 |2 20 - 22 (1 |2 21 - 15 |O 2| o| 1.000 4 1| 0800 98| 63| 0.609
15 - 9 0 - 0
1 ELtR 27
2 |mEasi=75578
3 fIP2=7




[ C#E]

BRI =/ N\L— N> BASazTAL—R—As57|  N—ITTARI. (BB B | B | 8 |tk B
JIE iz B F |tyb|tub| F O[BA[xH|] F
O [
21 - 12 16 - 21 21 - 17
2 |BER/I=NL— 2 21 - 17 |o | o]l 18 - 21 |2 21 - 11 |0 | 2| 1| o667 4 2| 0667 118 99| 0544
0 0 0 -0 0 0
o o
12 - 21 ] 1 - 21 11 - 21 ]
4 o327 o 17 21 |2 of 7 - 21 |2 17 21 |2 | o| 3| 0.000 0 6| 0.000| 75| 126| 0.373
0 0 0 -0 0 0
o} o}
[ 21 - 16 | 21 - 11 [ 19 - 21 |
1 |#xsazriv—r—nssz| 2| 21 18 |0 [ 2] 21 0 21 17 |1 3| 0| 1.000 6 1| 0.857( 139 99 0.584
0 0 0 15 - 9
o @) o
17 - 21 21 - 11 21 - 19
3 | =—%z5xJdr. | 0| 11 - 21 |2 | 2] 21 - 17 |0 | 1] 17 - 21 |2 1| 2| 0333 3 4| 0429 117 125 0483
0 0 0 0 9 - 15
1 BARS1=F7NAL—R—LH5T
2 |BR/IE=/N—
3 | x—9I5AJ
4 o357




